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EXERCICE 3B.1 Quotient de deux fonctions
a. lim f(x)=+0 et lim_g(x) =+ donc lim f(x) _
x—0,5 x—0,5 x—0,5 g (X)
. . . f(x
o i (9= & Jimg()=6  dome um -
c. lim f(x)=-7 et lim g(x)=—o0 donc lim F(x) _
" X0 X—>—00 Xﬁ—wg(x)
; . - f(x)
d. lim f(x)=— et lim g(x)=—<0 donc lim =
x—>—3 x—>—3 x—>-3 g (X)
e. lim f(x)=0" et lim g(x) =+ donc im 00 _
X—>+00 X—>+00 X>+0 g (X)
f. lim f(x)=5 et lim g(x)=-2 done tim 1) _
X+ X—>+00 x>+ g ()
m f(x)=0" i a(x)— i)
g lim f(x)=0 et Jim g(x)=— donc x'L”Jlg(X)—
- - . f(x)
h. X|l>rr_11f(x):—1 et XILnjlg(x)=+oo donc x"ﬂlg(x =
i lim f(x)=0" et i -2 d jim 1) _
L Jim f()=0" et Jimg(g=2  denc lim -
i1 . (%)
J-lim f (X) =+ et )I(l_)rqg(x) =-0,0001 donc !(L)rrllm =
k. lim_ f(x)=2 t i 0" d jim, )
- Jlim (x)= e an—]lg(X)_ onc anjlm
I li f =-1 t li =0 d li f(X)_
CJim f(x)=-1 et limg(x)= onc Jim,
m. lim f(x)=+00 et lim g(x)=5 donc lim F(x) _
x—>-1 x——1 x>-1g(x)
. (x)= i 0(x)= ()
n. lim f(x)=+00 et Jlim g(x)=-1 donc XILnJlg(X)_
lim,  (x) = t i 0 d jim (9 _
o Jim F(x)=e et limg(x)= one im0
EXERCICE 3B.2 Compléter le tableau :
l i i i : )| 9%
imf (x) | limg(x) |limf(x)+g(x) | limf(x)—g(x)|limf(x)xg(x)| lim 7(%) lim ()
a. +00 5
b. -3 +00
C. -3 -2
d. —00 2
e. 1 +00
f. 0 —o0
g. 0" 4
h. +00 —o0
i —o0 0
J. 0" 0
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a. Jﬂasf(x)=-ﬁn

b. lim f(x)=—0

X—>—00

c. lim f(x)=-7

X—>—00

d. lim, f(x)=—o0

X——3

e. lim f(x)=0"

X—>+00

txﬂﬂgf(x):5

g lim f(x)=0"

x——1

h. lim £ (x)=-1

X——

i lim f(x)=0"

X—>+00

j.!(i_)rqf(x)z-i—oo

k. lim f(x)=2

x—>—1

-1

L lim f(x)

Xx——1

m.imhf(x)=+w

n.JEEj(x)=+m

et

et

et

et

et

et

et

et

et

et

et

et

et

et

et

lim_g(x)=+w

x—0,5

lim g(x)=6

X—>—00

lim g(x)=—<

X—>—0

lim_g(x)=-

X——3

lim g(x)=+0

X—>+00

lim g(x)=-2

X—>+00

Jim 8=

lenjlg (X) =t

lim g(x)=-2

X—>+00

lim g (x) =-0,0001

thg(x):O‘

X—>—

Han(x):O‘

X—>—
Jim,9()=5

thg(x)z—i

X—>—

Iimlg(x):O+

X——

donc
donc
donc
donc
donc
donc
donc
donc
donc
donc
donc
donc
donc
donc

donc
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EXERCICE 3B.2 Compléter le tableau :
lim £ (x) | limg(x) [tim (x)+g(x) | lim f (x)=g(x)| lim f (x)xg(x)| lim ;8 lim 38
a. +00 5 +00 +00 +00 +00 0
b -3 +00 +00 —00 —00 0" —0
e | -3 2 5 1 6 15 %
d —00 2 —0 —o0 —00 —00 0"
e 1 +00 +00 —o0 +00 0" +00
f 0 —0 —00 +00 F. 1 0" +00
g 0+ 4 4 -4 0" 0" +00
h +00 —00 F. I +00 —0 F. 1 F. 1
i —®© 0~ —0 —o0 F. 1 400 0"
j 0 0 0 0t 0 F. =




